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Question: 1 
   
For security reasons, you must track the access of files of a specific folder. 
In this scenario, what should you do to accomplish this task from the storage side? 
 
A. Implement a Vscan solution. 
B. Use a cron job to save the audit log. 
C. Use role-based access control to track access. 
D. Implement an FPolicy solution. 
 

Answer: D      
 
Reference: https://library.netapp.com/ecmdocs/ECMP1196993/html/GUID-07D368C8-F4DD-4F14-9E68- 
99C63881EBE7.html 

Question: 2 
   
You need to provide a customer an action plan to update an ONTAP system after a security bulletin has 
been issued. 
In this scenario, how do you accomplish this task? 
 
A. Use the Interoperability Matrix Tool. 
B. Review the ONTAP 9 product page. 
C. Download the target version and do a pre-check. 
D. Use Upgrade Advisor on Active IQ. 
 

Answer: C      
 

Question: 3 
   
What is the minimum number of compute nodes required to run the NetApp Deployment Engine for 
NetApp HCI? 
 
A. 2 
B. 1 
C. 3 
D. 4 
 

Answer: A      
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Reference: https://docs.netapp.com/us-
en/hci/docs/task_hci_getstarted.html#:~:text=The%20minimum% 
20cluster%20for%20NetApp,to%20all%20NetApp%20HCI%20networks. 

Question: 4 
   
  
Which NetApp technology enables you to perform block-based replication from NetApp Element 
software to Cloud Volumes ONTAP? 
 
A. SyncMirror 
B. SnapMirror 
C. Cloud Sync 
D. MetroCluster 
 

Answer: B      
 

  

Question: 5 
   
Referring to the exhibit, which two components should be examined? (Choose two.) 

 
 
A. cluster switches 
B. SAS adapter 
C. network interface card 
D. disk 
 

Answer: BD      
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